B.Com (Sem v) Examination

Business Statistics « |

Code ! ~33FL

Time: 2Hours NLevieh —~ 20 )0 Total Marks:70
Q1 a) ([audddl sHis usAoladl Ad anadl dal adl Guadlll el 07
b) LA Hulecll u2el Agtiviuis DL A4 Aq wdued A 07
X Yy 30-60 6090 90-120 120-150 150-180
0-20 10 8 - - -
20-40 - 30 12 4
40-60 5 8 -
60-80 - .3 - 10 -
80-100 - - - 10
AYdL
Q:1 a) Asaioly A2 Y7 d-U (Al U512 wpud: 07
b) DAl il u2ell wsicluis Nl 07
X 240 230 220 210 200 190 180 170 160
Y: 4.2 4.9 5.0 6.0 6.2 6.7 55 6.1 5.9
Q:2 a) If-md, aoly Aed 7 sy e [ddd dolw d2edl dslad AN 07
b) o [dad UL x+2y—5=02 2x+3y-8=00 2 Sx*"1284 L z,7, 52 07
A4, r <l [(3Ud DAl
, A
Q2 a) [(dad dAdoluisd cuval andl ddl el spendl 07
b) @5 udlal ulapun vl Qad wlEd wa . 07
A[Bldsdl 218l A%l AL
AU 39.5 47.5
UHIDL [dua- 10.8 16.8
Ygioluls r=0.4284 4 & [qad aoiy 2l ) x =50 82 QR ydal
y =308y @ x+l e1yd [Sud s,
Q:3 a) ALLLHS AtiuAlusl [l dlu, @il 07
b fldell uLlEdl u2ell yasll Apuns dAoluis NEL 1A, A wdeed s 07
(A)=130 (B)=200 (B)=100 (AB)=55
AUl
Q3 a} el ples 2Aoluedl weald (R gsdlu avil: : 06
b} (1)500 Aol RA[Bld 2a B1HIA s AT dun g2 DA Yoo, ) 08
ua, B, 200 Azl alblanl, =R 350 @lidall Al sl Mypldl aad,
B, 175 alddall albld 2d M, gdid ol dHL dAaal Fldl 1A B AL WD
Aol S8 ASU2 Adlddl USRI :
(2) D3N Uladlll aotdal ustadl:
{A)=200 (AB) 125 (B)=250 N=600
Q:4 a) ULESAL YASsALs (AT esdiu el 07
b) elldel ULLedl w2l [2u2 212 A uIULL AR Nd YASULS DAL 07
cad | 1994 1995 1996 1997
A 10 15 60 30
B 20 40 30 60
C 40 100 120 160
D 100 125 250 300




Q:4 a)

b)

Q:5 a)

Q:5 a)
b}

“Wusais A s cedia wivdig AHLER B, 7 yusulisdl Gudol Aed

Gualsd, [aenesll 2ul s

s SIRVUAHL SIH 5L SIHERAD HIlls wlR 3.400 B, @S 055U Hidel
Yo [Hale Yusauis 250 8 dl Qa4 wRd uell uamust 29 susil wal

Adl

AL
dad, vilul VLSl | susL URMLS oLl
YASAE | 225 256 275 300
w2l 160 ? ? 40

el sllal:

Amals AR Aed 2 wnlls Aol Gudlll woud
APty Adld ARl A DA wHadls AL W dapl 29 weustdis

ay |01

02

03 |04

05 |06

07

08 |09

10

«5 |20

24

27 |25

30 |32

30

32 |36

34

OR

AMRSs Albg aap Nulens) add adldl Ad @R gsdia v
Dl e u2edl Wl Yusaus s

oy [Jl2n0m Gelloil ALY,
1966 40 50 35
1967 45 55 35
1968 42 60 40
1969 55 55 50
1970 60 70 45

a7

07



Time: 2Hours

Q1 a)
b)

Q1 a)
b)

Q:2 a}
b)

Q:2 a)
b)

Q:3 a)
b}

Q:3 a)
b)

Q:4 a)
b)

Code -

B.Com (Sem v) Examination

Business Statistics — |

NLee h— 2157

A8 2

Total Marks:70

Discuss the method of Spearman’s rank correlation. Give its uses. 07
Find the correlation co efficient for the following data and give interpretation. 07
X y> 30-60 60-90 90-120 120-150 150-180
0-20 10 8 - - -
20-40 - 30 12 4 -
40-60 - 5 3 - -
60-80 - 3 - 10 -
80-100 - - - - 10
- OR
What Is Correlation? Explain types of Correlation. 07
Find the value of r from the following data: 07
X: 240 230 220 210 200 190 180 170 160
Y: 4.2 4.9 5.0 6.0 6.2 6.7 5.5 6.1 59
What is Regression? Explain the difference between Correlation and regression. 07
The two regression lines are x+2y-5=0 and 2x+3y-8=0 and s,>=12find %, 7, s, andr. 07
CR
Define regression coefficients and state their properties. 07
The following information is obtained from result of an examination . 07
Marks in mathematics Marks in English
Average 395 47.5
5.D 10.8 16.8
Correlation coefficient between x and y = 0.42
Obtain the two regression lines, and hence estimate y for x=50 and x for y=30
Write a note on types of association. 07
Find Yule’s coefficient of association and interpret it. 07
(A)=130 (B)=200 (B)=100 (AB)=55
OR
Write a short note on Yule’s method of finding association 06
(1)A survey of 500 persons regarding their mathematical ability and general knowledge 08
,revealed that 200 of them were good at mathematics and 350 had good general
knowiedge, whiie 175 persons were weak in mathematics and weak in general
knowledge. Examine the consistency of the data.
(2) is there any inconsistency in the following data: -
(A)=200 (AB)=125 (B)=250 N=600
Write a note on consumer price index number . 07
Find index number by fixed base method and chain base method for the followmg data 07

ltem 1994 1995 1996 1997
A 10 15 60 80

B 20 40 30 60

C 40 100 120 160
D 100 125 250 300

OR



Q:4 a) “Index Number is a barometer of economic changes.” Discuss this statement in the
context of uses of index number,
b) Aworker of a factory is getting monthly salary Rs. 400. The cost of living index number of

a particular month is 250. From the following table find the expenses towards house rent

Commodity Food Clothing Houserent Fuel .
Index 225 256 275 300
expense 160 ? 7 40
Q:5 a} What is Time series? Explain the utility of Time series.
b)  Find trend by taking 3 yearly moving averages for the following time series and also find
short term fluctuations:
Year (01 |02 [03 |04 |05 [os |07 |08 [09 |10
Profit |20 |24 |27 |25 [30 (32 |30 (32 |36 |34
OR
Q:5 a) Write a short note on Methad of least squares.
b) Find seasonal indices for the following time serried:
Year Winter Summer Rainy
1966 40 50 35
1967 45 55 35
1968 42 60 40
19695 55 55 50
1970 60 70 45
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